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It is reasonable if he was w7p» with money — NDDI2 wTPT M7A°N

OVERVIEW

The X723 states that it can accept the idea of W1°YpPaX if the PW17°P was made with
money, however how can we explain the 71°vpaX if the 1Pw17°? was made with IX°2.
0N explains the difference! between 703 *W17°P and X2 WTp.

mooin explains that we can understand the 17°ypdX by 703 "W17p -
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Since the confiscation of 7''"2 renders the v17°» Myv»n ownerless, and therefore
the money of 717°P become a gift to the woman (and there was no 7"217°p), so
automatically all his subsequent m&°2 will be considered as N1t NIX*2; however -
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What can we say if he was n8%223 w7p»n; how can the 1127 invalidate the >w7sp
N9 —

MooIN anticipates a difficulty with this question:
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And even according to the 7''» in 729 7WNR? P75, that the 29251 possess the
power to uproot something which the 5790 ordains —

! Seemingly both 702 *w17p and 7X°2 WNTP are XN™IRTA PYITR, so if the o°man can invalidate one (703 *w17p), they
should be able (in the same manner) to invalidate the other (7X°2 *w17p)
2 Others delete the word "7
3 The simple understanding is that since 7"°2 made his money 7p57 and the woman is now in possession of this
money, it is considered as if she received a 7inn through the 7"°2 9poi. [Alternately, since the 0°non have complete
jurisdiction over his money (to the extent that they can confiscate it), they decreed that this money should be
considered a 771n» to the woman and not P 7P 702.]
4 The mx»a that were done after the 702 *w17p were not w17 aw NIX°3, since the husband assumed that she is
already nwmpn through the 7o3 *w11°p. Therefore since the 7o *w17°p were annulled, automatically the subsequent
MR°2 are MR°2 of Mar, since she is not his wife and he is not %312 her Pw P awh. However since it is not the 2’51 who
are making his m?°¥2 into mar n°va (which is a forbidden nx°2); we are not concerned about it. See footnote # 8.
5> The concept of 7"2 7577 cannot apply by 182 and it would seem inappropriate that the 0221 should cause that the
%2 *w17°p should become a Nt NXe2.
¢ The case there is where one 7°Tna was 110 @710 from XaW Y20 on 7Y 2w, where XN RTA it is a valid 72170 (and
the 775 can use it as fuel, but it is forbidden to be eaten for it is 7%»v 72170). However the 0°non decreed that he must
be 070 again M7wA M. There is a dispute as to what is the status of the original 7Xnv 7217n; according to 72 1"
N°VWIX it retains its 72170 status, however X701 21 maintains that it reverts to its 920 status. 117 maintains that 15 v»
TMINT 1) 127 MPY? 0an 102 that even though 7N 17 it is 7N, nevertheless the 2°»o1 render it 930 and when 7210
will be separated from this Xnv 22v, the original (7&nv) 77N will be permitted to be eaten (by a 7).
7 Seemingly therefore here too we can say that the 2»on have the power to nullify the 121 Tp even by %2 W17
(without resorting to 7"2 7poi), just as they were able to render 710 into 72v.
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mooIn responds that when do we say that 707 7 927 MPY? 2°o0 TA D W -
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That is only where for instance there is no transgression, like that case in P79

720 N7 where the 7270 returns to its 92w status, in such a case we can say 72 1D @7
191 0o -
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However where there is an ;79%2Y like in our case where she was X223 nwTpPn,
what can we say?!

mooIn cites and explains the s'&7%3 answer:

2PYITP IND PRI INT NP PP 1329 NINY 1IUM
And the X1 answers that the 3129 caused that his M2 are nir n»¥p2 and
therefore there is no 12757 here.

SUMMARY

The power of w7pn 131277 XnYIX is sufficiently strong that (not only can they be 02an
the 702 “*w17°P through 7"°2 757, but) they can even cause X2 *W17°P to become a
M nR°2 and invalidate the PwI7Tp.

THINKING IT OVER
1. According to the conclusion of N1BOIN, is it necessary to resort to 7"°2 P57 in
order to explain why the 2°n211 can nullify the 703 W1 7p?

2. Can our X123 also follow the view that 7707 12 927 MPY? 2°Mo0 72 119 PR and
nevertheless the 2°»om can be Hvan the R W 7P?

3. How can we explain the need for both "1 wipnT 95 and 7"°2 p57; seemingly
each one can nullify the w1 P without the other?'®

8 There the o°non merely said that the 7290 reverts back to 2v. At that point the produce (which is now 92u)
continues to be 70X (as it was when it was 7m17n). The fact that later after one will be 72170 w97 on this 72v, the
original 0 will become 772°82 7N is of no concern since it is not done directly by the o°n51 (see 2"wann). See
footnote # 4.
° Here as soon as the o°mdn invalidate her nX*2 >W17p she ceases to be an WX NwX, and the oon are directly
permitting an ¥22y% WX nWXR without a vi. [Alternately, by nullifying the 1%»2 *v17p the o°mon are causing directly
that this 1X°2 becomes a Mt NX°2 which is a 77°2Y PR°2 (see 71’0 17"7 2,71 2"2 '0N). ]
10 See v nx 7"20.
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